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2 4,027,106
z 1,200,000
= 1,105,000
2 5,039,018
SHEFH ¥ SEEa 11,371,124 7,148,458 4,222,666
2 4,027,106
z 1,200,000
= 1,105,000
2 5,039,018
Aotd FHIAMY 2,054,212 2,330,038 N275,826
2 1,027,106
2 1,027,106
401 AlEBlL = Thb| 2,054,212 2,330,028 £275,826
2 1,027,106




2 A4
M ol HH(ZELXGHIHLY/2=TL)
o2 otEAEH & StEEH EEEEE]
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
= 1,027,106
01 Al&H| 2,046,816 2,321,649 A274,833
O=ZHIEZ ALY 2,046,816
—A0td AHIAFY (L=5.0km)
2,046,816,000& 2,046,816
= 1,027,106
= 1,019,710
03 AI&=2UHI 7,396 8,389 A993
O=HIBEZ ALY 7,396
—A0t& HHIAS
2,054,212,000& *0.36/100 7,396
ot =AE ALY 2,000,000 300,000 1,700,000
= 1,200,000
= 800,000
401 AEHILE20HH] 2,000,000 300,000 1,700,000
= 1,200,000
= 800,000
01 Al&H| 1,992,800 297,840 1,694,960
OZAXNALHEELEIH AL 1,992,800
—otE= =4 (L=10.0km) 1,992,800,000& 1,992,800
= 1,200,000
= 792,800
03 A&=20dl 7,200 2,160 5,040
OZAXNALNHESEZ A A 7,200
—ot==4d 2,000,000,000& *0.36/100 7,200
ot& sl 360,072 560,000 A~ 199,928
< 180,000
= 180,072
401 Al EHILE20HH] 360,072 560,000 A 199,928
= 180,000
= 180,072
01 Al&H| 357,480 555,968 N 198,488
OEHIEZAY 357,480
— ol KX 22| AFS (L=45%m) 357,480,000 357,480
= 180,000
= 177,480
03 Al =2 0HYI 2,592 4,032 A 1,440
OZHIBZAE 2,592
—otd s Xl2elArg 360,000,000 *0.72/100 2,592
bi+=2 &l 350,000 350,000 0
< 175,000
= 175,000
401 AlEHIZL 2] 350,000 350,000 0
= 175,000
= 175,000




S s}
M ol HH(ZELXGHIHLY/2=TL)
Cel: St AH ¢ dle=4d (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
01 Al&H| 347,480 347,480 0
OZHIBZ ALY 347,480
—CSHi+E AL 347,480,000 347,480
== 175,000
iy 172,480
03 AlE=20HbI 2,520 2,520 0
OEHIEEAIE 2,520
—C 232 FHAY
350,000,000& *0.72/100 2,520
=3 JI4H 3ul 100,000 150,000 50,000
401 AIEHIZ 20| 100,000 150,000 50,000
01 Al&HI 99, 100 148,920 N49,820
OFEF=HIIEH 99, 100,000& 99, 100
03 Al&R0HYI 900 1,080 A 180
O&FAHIILH 100,000,000 *0.90/100 900
A0tE |22 202,000 902,000 700,000
203 SR =&Y 2,000 2,000 0
03 AIHFRHRF=ZEY| 2,000 2,000 0
OActa el 924 2,000,000& 2,000
401 AEHI Y20 200,000 900,000 700,000
01 Al&H| 198, 560 894,060 A 695,500
OL35t& 3| 198,560,000& 198, 560
03 AlA20HYI 1,440 5,940 4,500
OAoctE & 200,000,000& *0.72/100 1,440
=oluloll s+ 304,840 356,420 A51,580
201 B2 AH| 1,600 2,100 A500
01 AP Zelbl 1,600 2,100 A500
(OF=1=1s] 1,600,000 1,600
202 (4 3,240 4,320 A 1,080
01 2Woibl 3,240 4,320 A 1,080
Ootazded GRFA 3,240,000& 3,240
401 AlEHIZLL20H] 300,000 350,000 A 50,000
01 Al&H| 297,840 350,000 AbB2,160
OMAIECHE ¥ S3=7F 297,840,000 297,840
03 AlE&=20HbI 2,160 0 2,160
OMaHAIETIH & 2223
300,000,000& *0.72/100 2,160
Agara &l 500,000 850,000 A 350,000
401 AIEHIZ 20| 500,000 850,000 A 350,000
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2 A4
M ol HH(ZELXGHIHLY/2=TL)
o2 otEAEH & StEEH EEEEE]
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
01 Al&HI 496,400 843,880 A 347,480
OXdotd & He HHI(180J04)
496,400,000 496,400
03 Al&=2 Ul 3,600 6,120 N2,520
OXdotd & He HHI(180J04)
500,000, 000& *0.72/100 3,600
ot =& H| 600,000 300,000 300,000
401 Al EHILE20HH] 600,000 300,000 300,000
01 Al&H| 595,680 297,840 297,840
Oodt= &I (L=2.0km) 297,840,000 297,840
OUNSK = otaEYl 297,840,000 297,840
03 A&=2Ul 4,320 2,160 2,160
Oodt=&HdI(L=2.0km) 300,000,000& *0.72/100 2,160
OLNEXF ataddl 300,000,000 *0.72/100 2,160
sg&A Al 3,500,000 1,000,000 2,500,000
= 2,000,000
= 750,000
= 750,000
401 Al&HIL 204 3,500,000 1,000,000 2,500,000
= 2,000,000
< 750,000
= 750,000
01 Al&H| 3,487,400 993,700 2,493,700
O=HIEZ ALY 3,487,400
—8&& HUIA 3,487,400,000& 3,487,400
= 2,000,000
= 750,000
= 737,400
03 AI&=UI 12,600 6,300 6,300
O=ZHIBEXZ A 12,600
—&d& HHIAMS
3,500,000, 000& *0.36/100 12,600
HAE2XNS JIsaaEXN 2| 50,000 50,000 0
401 AlEHILE0HH] 50,000 50,000 0
01 Al&H| 49,460 49,460 0
OQHAEX S Jisaa EXOHY
49,460,000 49,460
03 AIE=2UI 540 540 0
OQHAEX S Jisaa EXOL
50,000,000& *1.08/100 540
4002 A2l DAY 1,350,000 0 1,350,000
= 1,000,000
= 350,000
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SN AL
M 5tE MU (RELX SN /LX)
ool SHEEH ¥ St EA (25l &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES Off &k il i~ o Hnz2
401 Al&HIL 20| 1,350,000 0 1,350,000
= 1,000,000
2 350,000
01 Al&t] 1,341, 180 0 1,341,180
CETICEINL- 993, 700
—52N 2L 993,700,0002 993, 700
= 993,700
O4lHY EHE BUEHTY 347,480,008 347,480
03 Al& S CH| 8,820 0 8,820
ORI 2EA 6,300
—5YN 2R LYY
1,000,000,000% #0.63/100 6,300
=2 6,300
O4lHY FEE BUHAZ
350,000,000 %0.72/ 100 2,520
BH2 YA (D) (OIEHIIEH 28,510 27,400 1,110
ol 2| 4,200 4,200 0
EERIIEED 4,200 4,200 0
203 R =Y 4,200 4,200 0
04 EN2YAREAY] 4,200 4,200 0
ORASgLRETY) 4,200,0002! 4,200
o= 2| 24,310 23,200 1,110
o= 2l 24,310 23,200 1,110
201 Y2 11,710 11,200 510
01 At 11,710 1,200 510
OsragY| 11,710,0002 11,710
202 04t 12,600 12,000 600
01 2Uhoitl 12,600 12,000 600
ORN2Y(AE, MOIL &4 S)
12,600, 0002 2,600
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